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�જુરાત ગૌણ સેવા પસદંગી મડંળ, ગાધંીનગર 

           મડંળની �હ�રાત �માકંઃ ૯૨/૨૦૧૬૧૭, કોપી હો#ડર, વગ'-૩ સવંગ'ની તા. ૧૨/૦૨/૨૦૧૭ 

ના રોજ મડંળ +ારા યોજવામા ં આવેલ ઓન-લાઇન 2 પધા'4 મક લે5ખત  પર78ામા ં9છુાયેલ <=ોના  

સાચા જવાબોની <ોિવઝનલ આB સર ક7 નીચ ે<માણ ેDકુવામા ંઆવે છે. E અBવયે ઉકત પર78ાના 

ઉમેદવારો તરફથી કોઇ રJુઆત હોય તો તે તા. ૨૭/૦૨/૨૦૧૭ ના રોજ બપોરના ૧૭-૦૦ કલાક 

Kધુીમા ંમડંળને LબLમા ં/ ટપાલ મારફત જLર7 આધારો સNહત રJુ કરવા જણાવવામા ંઆવે છે. 

        જLર7 આધારો વગરની ક� ઉકત સમય મયા'દા બાદ રJુ કરવામા ંઆવેલ રJુઆત  Oયાને  

લેવામા ં આવશે નહQ.  અને મડંળ +ારા જLર7 કાય'વાહ7 કર7ને આખર7 આB સર ક7 <િસR કર7ને 

આગળની કાય'વાહ7 હાથ ધરવામા ંઆવશે. Eની પણ ઉમેદવારોએ નTધ લેવી. 
Que 

No. 

 
Option  & Answer (With Options) 

  Correct Answer 

1   2" is equal to………. (B) 144 point 

(A) 72 point   

(B) 144 point   

(C) 36 point   

(D) 54 point   

2   Which proof reading mark is used to make the lines in vertical alignment ? (A) ll 

(A) ll   

(B) X   

(C) I   

(D) =   

3   �જુરાત રા�યના આરો�ય અને પ�રવાર ક�યાણ િવભાગ "ારા “િવ$ %&'ટ 

�દન”ની ઉજવણી કયા �દવસે કરવામા ંઆવે છે ? 

(D) 12, ઓUટોબર 

(A) 5, સ,ટ-.બર   

(B) 11, નવે.બર   

(C) 14, �ડસે.બર   

(D) 12, ઓ1ટોબર   

4   1 em is equal to (A) 2 en 

(A) 2 en   

(B) 4 en   

(C) 2.5 en   

(D) 5 en   

5   �જુરાતના 23ુિસ4 સગંીતકાર અિવનાશ 6યાસને 1970મા ંભારત સરકાર "ારા 

કયો એવોડ8 આપી સ9માિનત કરવામા ંઆ6યા હતા ? 

(A) પVWી 

(A) પ;<ી   

(B) પ;િવ=ષૂણ   

(C) પ;=ષૂણ   

(D) સગંીતર@ન   
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6   Round punched on both side of paper is used by (C) Dot matrix printer 

(A) Dye-sublimation printer   

(B) Inkjet printer   

(C) Dot matrix printer   

(D) Laser printer   

7   Proof reading section must be free from (D) All of the above 

(A) Noise pollution   

(B) Air pollution   

(C) Chemical pollution   

(D) All of the above   

8   બારડોલી સ@યાBહ કઇ સાલમા ંથયો હતો ? (C) 1928 

(A) 1940   

(B) 1910   

(C) 1928   

(D) 1947   

9   1000 Eિપયાની વFG ુ12% નફો મેળવવા ક-ટલામા ંવેચવી જોઇએ ? (A) L. 1120 

(A) E. 1120   

(B) E. 1112   

(C) E. 1012   

(D) E. 1020   

10   સામા9ય રKતે એિસડ Fવાદ- ક-વા હોય છે ? (A) ખાટા 
(A) ખાટા   

(B) Gરૂા   

(C) કડવા   

(D) મીઠા ં   

11   The re-use of out put of image carrier is possible in case of (C) Metal Types 

(A) Butter paper   

(B) Negative   

(C) Metal Types   

(D) Positive   

12   Ctrl+Alt+Del keys when entred, it ….. (D) Restarts the computer 

(A) Alters the size of type   

(B) Shutdown the computer   

(C) Delete the saved files   

(D) Restarts the computer   

13   નવા વષN ભાભીને િપયર તો નથી મોકલવા ને ? - િનપાતનો 3કાર જણાવો. (B) સશંયવાચક 

(A) ભારવાચક   

(B) સશંયવાચક   

(C) ખાતરKવાચક   

(D) સીમાવાચક   

14   ‘.’ mark is used to insert (C) Full stop 

(A) Not used as proof reading mark   

(B) Semicolon   

(C) Full stop   

(D) Colon   
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15   Kolkata is .................... from the equator than colombo. (A) further 

(A) further   

(B) farther   

(C) more farther   

(D) furthest   

16   The term ‘Dipthongs’ means (C) Combined letter 

(A) Partial combined letter   

(B) Partial seprate letter   

(C) Combined letter   

(D) Separate letter   

17   For proofing work, which paper you will use ? (C) White 

(A) Green   

(B) Red   

(C) White   

(D) Blue   

18   કયા શહ-ર (ગામ) પાસે ગરમ પાણીના Qંુડ આવેલા છે ? (C) XલુસીYયામ 

(A) ઊના   

(B) કો�ડનાર   

(C) GલુસીSયામ   

(D) મTુવા   

19   From the following, which part is identified as hardware of computer ? (D) Both (B) & (C) 

(A) MS office software   

(B) Key board   

(C) Mouse   

(D) Both (B) & (C)   

20   ‘વાઢ’ શWદનો સમાનાથX શWદ શોધો. (B) કાપો 
(A) વેઢ   

(B) કાપો   

(C) સઢ   

(D) બખોલ   

21   For Letter press printing, generally the proofing machines are operated (C) Manually 

(A) Electrically   

(B) Thermostastically   

(C) Manually   

(D) Hydrolically   

22   While working, the copy holder may (D) None of the above  

(A) Sing the song   

(B) Watch T.V.   

(C) Use mobile phone   

(D) None of the above    

23   આરોપીને થયેલ સYની મોQફૂK, માફK ક- ઘટાડો કરવાનો અિધકાર કોને છે ? (C) રાZય સરકાર 

(A) હાઈ કોટ8    

(B) 2િુ3મ કોટ8    

(C) રા�ય સરકાર   

(D) ઉપરના બધા   
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24   Control+S means (C) Save the file 

(A) Delete files   

(B) Send files to recycle Bin   

(C) Save the file   

(D) Open new document   

25   તા\તરમા ંરમાઈ ગયેલ હ]ગક]ગ ઓપન બેડિમ9ટન ^ુના8મે9ટની સેમીફાઈનલ 

મેચમા ંભારતીય ખેલાડK િસ_` ુિવ\તા થયા. આ ^ુના8મે9ટ aા ંરમાડવામા ંઆવી 
? 

(A) કાવ[નૂ 

(A) કાવbનૂ   

(B) @2એુનવાન   

(C) cએુન લ]ગ   

(D) @2dુુગં   

26   Proofing on long Paper of a continuous matter is identified as (A) Galley Proof 

(A) Galley Proof   

(B) Page Proof   

(C) Second Proof   

(D) Machine Proof   

27   What is the meaning of ‘out see copy’ proof reading mark ? (D) Insert omitted portion 

of copy (A) Delete the matter   

(B) Pushdown matter   

(C) No abbreviation   

(D) Insert omitted portion of copy   

28   કિવ મકરંદ દવે પર કોની િવચારધારાનો 3ભાવ વ` ુજણાય છે ? (A) Wી અરિવ_દ  

(A) <ી અરિવ_દ   

(B) મધર ટ-ર-સા   

(C) ડૉ. રાધાQૃ'ણg ્   

(D) સરદાર પટ-લ   

29   Which type of manuscript should be sent for proof reading in sealed cover ? (C) Question paper 

(A) Leaflet   

(B) Price list   

(C) Question paper   

(D) Text book   

30   Select single word for the following phrase: “A place where pre-school 

children are looked after while their parents are at work” 

(B) Creche 

(A) Observatory   

(B) Creche   

(C) Corporate   

(D) Arsenal   

31   One can not change the data if the file is in ….. . (C) .pdf format 

(A) .doc format   

(B) .xls format   

(C) .pdf format   

(D) None of the above   
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32   The initial output copy of a composed matter is known as ….. . (C) Proof 

(A) Manuscript   

(B) Print   

(C) Proof   

(D) Revised proof   

33   Yહ-ર-ખાનગી ભાગીદારK માટ- ભારતમા ંસૌ 3થમ કાયદો કયા રા�યમા ંઘડાયો ? (C) ]જુરાત 

(A) �દ�લી   

(B) મjય3દ-શ   

(C) �જુરાત   

(D) મહારા'k   

34   A copy holder is employed in printing press for ….. . (C) Reading manuscript 

(A) Printing machine operation   

(B) Checking production   

(C) Reading manuscript   

(D) Maintaining job ticket   

35   સાચી જોડણી આપો. (C) ભX ૃ'હNર 

(A) ભGુ8હ�ર   

(B) ભરGહુ�ર   

(C) ભG ૃ8હ�ર   

(D) ભlુ8હ�ર   

36   Control+A means (A) Select all 

(A) Select all   

(B) Deselect all   

(C) Copy all   

(D) Delete all   

37   While working the copy holder should …. . (A) Seat near proof reader 

(A) Seat near proof reader   

(B) Stand near proof reader   

(C) Seat far away from proof reader   

(D) Stand far away from proof reader   

38   િવ9ડોઝમા ંRun  માટ-ની શોટ8 કટ કK કઇ છે ? (A) Win + R 

(A) Win + R   

(B) Ctrl + R   

(C) Alt + R   

(D) Shift + R   

39   ‘Centre’ mark indicates …. . (B) Put line in centre 

(A) Put line in left   

(B) Put line in centre   

(C) Justify the line   

(D) Put line in right   

40   જો ABCD મા ંA = 26, MY = 16, YOUR = 29 હોય તો, THAT = ……………….. (D) 59 

(A) 67   

(B) 73   

(C) 52   

(D) 59   
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41   Among the following, which one will be the most useful ‘TOOL’ for proof 

reader ? 

(C) Language dictionary 

(A) Pencil   

(B) Whitener   

(C) Language dictionary   

(D) Fluorscent pen   

42   To convert type into ‘roman type’ use the following proof reading mark. (A) rom 

(A) rom   

(B) Rom   

(C) bold   

(D) Bold   

43   આપેલ વાaમાથંી ર-ખા�ંકત શWદનો Qૃદંતનો 3કાર જણાવોઃ ‘ફાગણમા ંpqૃો 

પરથી rલોને Tું ખરતા જોs tં. 

(D) વત'માન`ૃદંત 

(A) ભિવ'યQૃદંત   

(B) સબંધંક =તૂQૃદંત   

(C) =તૂQૃદંત   

(D) વત8માનQૃદંત   

44   A copy holder has to work under …… . (B) Proof reader 

(A) Machine operator   

(B) Proof reader   

(C) Manuscript writer   

(D) Cashier   

45   One should keep one’s promises. (Change the voice) (A) Promises should be 

kept. (A) Promises should be kept.   

(B) Promises should have be kept.   

(C) Promises should have to be kept.   

(D) Promises are to be kept.   

46   To dry the wet film of printing ink of a proofed copy (D) Add oil into printing 

ink (A) Sprinkle fench chalk powder on proof   

(B) Put proofed copy in sunrays   

(C) Maximise pressure while proofing   

(D) Add oil into printing ink   

47   To copy a matter use the key (A) Control+C 

(A) Control+C   

(B) Control+K   

(C) Control+O   

(D) Control+E   

48   વડા3ધાન નર-9%ભાઈ મોદK "ારા તા.31-12-2016ના રોજ કરવામા ંઆવેલ 

Yહ-રાતો uતગ8ત િસનીયર િસટKઝ9સ માટ- ક-ટલા લાખ 2ધુીની જમા રકમ ઉપર 

10 વષ8 2ધુી 8% 6યાજ આપવાgુ ંનvK કરવામા ંઆવેલ છે ? 

(B) L. 7.50 લાખ 

(A) E. 10.00 લાખ   

(B) E. 7.50 લાખ   

(C) E. 8.00 લાખ   

(D) E. 9.00 લાખ   
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49   Machine proof must be checked for its (D) All of the above  

(A) Imposition scheme   

(B) Folding centre and trimming marks   

(C) Gripper margin   

(D) All of the above    

50   વષ8 2015નો �જુરાતી સા�હ@યનો wાનપીઠ xરુFકાર કોને આપવામા ંઆ6યો છે ? (C) રaવુીર ચૌધર7 
(A) દયારામ   

(B) ઝવેરચદં મેઘાણી   

(C) રyવુીર ચૌધરK   

(D) નરિસ_હ મહ-તા   

51   ‘J’ mark indicates (D) Inverted type 

(A) Inverted word   

(B) Inverted sentence   

(C) Inverted line   

(D) Inverted type   

52   Paper folds easily in (A) Grain direction 

(A) Grain direction   

(B) Across the grain direction   

(C) Diagonal direction   

(D) All of the above   

53   લખતર તાbકુો �જુરાત રા�યના કયા zજ�લામા ંઆવેલ છે ? (A) Kરુ�Bcનગર 

(A) 2રુ-9%નગર   

(B) બનાસકાઠંા   

(C) વલસાડ   

(D) આણદં   

54   To reduce ‘space’, which proof reading mark is used ? (B) less # 

(A) e.q. #   

(B) less #   

(C) mini #   

(D) red #   

55   ભારતમા ંતાY પાણીનો મહ{મ વપરાશ કયા qે|ે થાય છે ? (A) `ૃિષ 

(A) Qૃિષ   

(B) ઘરવપરાશ   

(C) ઉ}ોગો   

(D) ઉY8 ઉ@પાદન   

56   It is in the benefit of a copy holder, if he possess the knowledge of (C) (A) and (B) both 

(A) Copy right act   

(B) Trade mark registration act   

(C) (A) and (B) both   

(D) None of the above   

57   The sum of two adjoining pages in 8 page imposition scheme is (D) 9 

(A) 10   

(B) 11   

(C) 8   

(D) 9   
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58   આપેલ િવભા~ત વાaમાનંા \ િવભાગમા ં=લૂ હોય તેનો �માકં જણાવો. (B) �eુ ંf,ં 

(A) હવે Tું   

(B) Ypુ ંtં,   

(C) અને આ   

(D) તમને સ],યા.   

59   The copy holder may skip one line in reading manuscript if it has …… . (A) Very narrow space 

between two lines (A) Very narrow space between two lines   

(B) Lines with different colours   

(C) Left align justification   

(D) None of the above   

60   Find the correct spelling. (B) perseverance 

(A) perseverence   

(B) perseverance   

(C) perseveranse   

(D) parseverence   

61   Copy holder must have the capacity to (D) All of the above true 

(A) Read badly written manuscript   

(B) Support proof reader by all means   

(C) Memorise wrongly written words   

(D) All of the above true   

62   A sheet of paper when printed on both the sides with the same forme for 

getting two copies of the same job, when trimmed from centre is called 

(B) Half sheet work 

imposition 

(A) Sheet work imposition   

(B) Half sheet work imposition   

(C) Work and tumble   

(D) None of the above   

63   �જુરાત રા�યના ��ુયમ|ંી<ી િવજયભાઈ Eપાણી "ારા રા�યના િવકાસ માટ- 

લેવાયેલ ઝડપી િનણ8યો uતગ8ત રા�યના ગરKબ દદ�ઓ માટ- ‘દKનદયાળ’ 

6યાજબી ભાવની લગભગ 1000 \ટલી \નરKક દવાઓ xરૂK પાડવા રા�યભરમાં 

ક-ટલા Fટોસ8 ખોલવાનો િનણ8ય કરવામા ંઆ6યો છે ? 

(A) 500 થી 600 

(A) 500 થી 600   

(B) 150 થી 200   

(C) 200 થી 250   

(D) 300 થી 400   

64   ‘WAN’ means (B) Wide area network 

(A) Wide area notebook   

(B) Wide area network   

(C) Wide acess network   

(D) Wide across network   

65   અલકંાર જણાવોઃ ‘Gુ ંચ%ંથી ચા�ુ 2હુાિસની હ- !’ (C) gયિતર�ક 

(A) શWદાg3ુાસ   

(B) અન9વય   

(C) 6યિતર-ક   

(D) ઉપમા   
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66   For printing job, a text matter can easily be composed through (D) Page Maker 

(A) MS Word   

(B) MS Excel   

(C) Illustrator   

(D) Page Maker   

67   ‘l.c.’ mark is used to change character as (A) Lower case 

(A) Lower case   

(B) Lower cadre   

(C) Lower centre   

(D) Lower choise   

68   કયા Fતરની સામાzજક 9યાયસિમિત પોતાના સ�યોમાથંી પેટા સિમિતની િનમ�ૂકં 

કરK શક- છે ? 

(D) hજ#લા પચંાયત 

(A) Bામ પચંાયત   

(B) તાbકુા પચંાયત   

(C) રા�ય સરકાર   

(D) zજ�લા પચંાયત   

69   Image generation in tiny dot formation is achived through (A) Dot matrix printer 

(A) Dot matrix printer   

(B) Laser printer   

(C) Inkjet printer   

(D) Dye-sublimaTion printer   

70   કિવ <ી ઉમાશકંર જોશીને કયો એવોડ8 મ�યો છે ? (D) ઉપરના iણયે એવોડ' 
(A) રણzજતરામ 2વુણ8ચ%ંક   

(B) ભારતીય wાનપીઠ એવોડ8    

(C) �દ�હK સા�હ@ય અકાદમી એવોડ8    

(D) ઉપરના |ણેય એવોડ8    

71   To indicate ‘Wrong font’, which proof reading mark is used ? (C) w.f. 

(A) n.p.   

(B) l.c.   

(C) w.f.   

(D) v.f.   

72   ‘: ’ mark is used to (B) Insert colon 

(A) Insert semicolon   

(B) Insert colon   

(C) Delete colon   

(D) Delete semicolon   

73   ‘િ|કાલ’ શWદનો સમાસ ઓળખાવો. (A) કમ'ધારય 

(A) કમ8ધારય   

(B) બT�ુીહK   

(C) ત@x�ુુષ   

(D) ઉપપદ   
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74   International paper sizes are measured in (A) m/m 

(A) m/m   

(B) Inches   

(C) E ms   

(D) Points   

75   ................... he is poor, he is honest. (B) Though 

(A) If   

(B) Though   

(C) Inspite of   

(D) As   

76   For your printing press D.T.P. work, which printer you will prefer to buy ? (B) Dot matrix and Laser 

(A) Xerox   

(B) Dot matrix and Laser   

(C) Inkjet   

(D) Only dot matrix   

77   In case of emergency, the copy holder must be capable of handling work of (B) Proof reader 

(A) Machine operator   

(B) Proof reader   

(C) Press manager   

(D) Cashier   

78   ‘3િત + Fથા’ શWદની સિંધ જોડો. (A) <િતjઠા 
(A) 3િત'ઠા   

(B) 3િતFથા   

(C) 3તી'ઠા   

(D) 3તીFથા   

79   The copy holder must have the knowledge of (D) Language for which he 

has to work (A) Erection procedure of printing machine   

(B) Power supply necessary for each printing machine   

(C) Press maintanance   

(D) Language for which he has to work   

80   રા\9% શાહના કયા કા6યસBંહને �દ�લી સા�હ@ય અકાદમીનો <ે'ઠ એવોડ8 મ�યો 

છે ? 

(B) શાતં કોલાહલ 

(A) jવિન   

(B) શાતં કોલાહલ   

(C) �દોલન   

(D) qણ જ �ચરંતન   

81   How will you break the ‘Dimension’ word ? (D) Dimen+sion 

(A) Dim+ension   

(B) D+imension   

(C) No Break   

(D) Dimen+sion   

82   ‘D/Lead’ mark is used to (C) Delete lead 

(A) Add lead   

(B) Add space   

(C) Delete lead   

(D) Delete space   
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83   ડ-ડKયાપાડા તાbકુો �જુરાત રા�યના કયા zજ�લામા ંઆવેલ છે ? (B) નમ'દા 
(A) પચંમહાલ   

(B) નમ8દા   

(C) તાપી   

(D) 2રુત   

84   A packing of printing paper having details of its weight, date of manufacture, 

quality of paper and manufacturer’s name on it's lable is known as 

(D) Ream 

(A) Pocket   

(B) Box   

(C) Roll   

(D) Ream   

85   WAN gુ ંx�ંુૂ નામ �ુ ંછે ? (B) Wide Area Network 

(A) World Area Network   

(B) Wide Area Network   

(C) Web Area Network   

(D) Work Area Network   

86     -------- is used in Dot matrix Printer. (A) Black Ribbon 

(A) Black Ribbon   

(B) Dyes   

(C) Printing ink   

(D) Gel pen ink   

87   During handling manuscript, sometimes it's paper tear because of (D) All of the above 

(A) Old paper use   

(B) News paper use   

(C) Tissue paper use   

(D) All of the above   

88   ‘�વડ’ શWદનો િવ�ુ4ાથX શWદ જણાવો. (C) Kઘુડ 

(A) ગદંK   

(B) FવFથ   

(C) 2ઘુડ   

(D) બેડોળ   

89   After final proof reading, sometimes the print may not be in perfect manner, 

who will be responsible ? 

(C) Machine operator 

(A) Proof reader   

(B) Manager   

(C) Machine operator   

(D) Feeder man   

90   1800 Eિપયાની વFG ુપર 7% ખોટ ગઈ તો તે વFG ુક-ટલા Eિપયામા ંવેચી હોવી 

જોઈએ ? 

(B) 1674 

(A) 1926   

(B) 1674   

(C) 1774   

(D) 1726   
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91   How will you break the ‘Alignment’ work ? (A) Align+ment 

(A) Align+ment   

(B) Ali+gnment   

(C) Alignm+ent   

(D) Alignme+nt   

92   (/) / mark is used to (A) Insert brackets 

(A) Insert brackets   

(B) Insert Parentneses   

(C) Insert shilling stroke   

(D) Insert exclamation mark   

93   Folding of any paper from its length converts size to (C) Folio 

(A) Octavo   

(B) Quarto   

(C) Folio   

(D) None of the above   

94   To save the file, short cut key is (C) F10 

(A) F2   

(B) F3   

(C) F10   

(D) F12   

95   નીચેનામાથંી મદંા�ા9તા છંદgુ ંબધંારણ-2|ૂ કcુ ંછે ? (B) મ ભ ન ત ત ગા ગા 
(A) ય મ ન સ ભ લ ગા   

(B) મ ભ ન ત ત ગા ગા   

(C) જ સ જ સ ય લ ગા   

(D) મ સ જ સ ત ત ગા   

96   The word ‘Paper’ is derived from the word (C) Papyrus 

(A) Pappyrus   

(B) Popyrus   

(C) Papyrus   

(D) Poeepyrus   

97   Suggest from lower to higher responsible staff in regard to a printing press (A) Helper - copy holder - 

proof reader - 

supervisor 
(A) Helper - copy holder - proof reader - supervisor   

(B) Copy holder - proof reader - supervisor - helper   

(C) Proof reader - supervisor - helper - copy holder   

(D) Supervisor - helper - copy holder - proof reader   

98   હ-�થ િવભાગને લગતી 3યોગશાળાની �ણુવ{ાના માપને 3મા�ણત કરવા 

“NABL” 3માણપ| આપવામા ંઆવે છે. આ બોડ8g ુ ંx�ુુ નામ જણાવો. 

(B) નશેનલ એ��ડ7ટ�શન 

બોડ' ફોર ટ�2ટQગ એBડ 

ક�લીmેશન લબેોર�ટર7ઝ 
(A) નેશનલ એ�-ડKટ-શન બોડ8 ફોર હ-�થ લેબોર-ટરKઝ   

(B) નેશનલ એ�-ડKટ-શન બોડ8 ફોર ટ-Fટ�ગ એ9ડ ક-લી�ેશન લેબોર-ટરKઝ   

(C) નેશનલ એ�-ડKટ-શન બોડ8 ઓફ ટ-Fટ�ગ એ9ડ ક-લી�ેટ�ગ લેબોર-ટરKઝ   

(D) નેશનલ એ�-ડKટ-શન બોડ8 ઓફ ટ-Fટ�ગ એ9ડ ક-લી�ેશન લેબોર-ટરKઝ   

99   How will you break the ‘Simplification’ word ? (B) Simplifica+tion 

(A) Simplific+ation   

(B) Simplifica+tion   

(C) Simpl+ification   

(D) Simplif+ication   
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100   આપિ{ના કારણે થતા g1ુશાનની મા|ા ઓછામા ંઓછK થાય તે માટ- કારગત 

6યવFથા/પjધિત કઇ ગણાય ? 

(A) આપિn સામનેી 9વૂ' 

તયૈાર7 
(A) આપિ{ સામેની xવૂ8 તૈયારK   

(B) આપિ{ સામે જEર પડ- @યાર- લડK લેpુ ં   

(C) �યાર- \pુ ંઆવી પડ- તેpુ ંકરpુ ં   

(D) Y�યા @યારથી સવાર ગણી શEઆત કરવી   

 


